J:COMTAERERI—-A/HAEFI-A
202556 ATHIFIS (7TRIRES) MANESHESBOBMSHE (KE)

1. BARIESEE SRR

(F/kWh, $tiA)

_ 2025568 HIFS
RHLTUT HFA=1—
ST . H#®ES)
HEILBHIVY  |EAc1- 1KWhZOE -7.96
ERBHIV  |EAc1- 1KWhZOE -6.88
BADLSKWhET 50.00
HEBX=1— (EEA) —
RFEEHIVT 15kWh%i#8%21kWhI(ZD&E 3.33
REBA=1—((EEB) 1KWhZDE 3.33
BHDLSKWhET -141.17
REBX=1— (EEA) —
hEEAHIV? 15kWh##8X%1kWh(IDZF -9.39
RBAI-(1EEB) 1KWhZOE -9.39
NHNBHIVF  |EErc1- 1KWhZOE 1.54
2. BRRMAE
(M)
2025628 ~ 202554/
A (5l 75,324
B (LNG) 91,452
C (BER) 19,887
3. EIREUEAS
(M)
202556 AZFIRS
= ;i\II 57
ST (7H#E5)
RILBITUT 43,100
ERBHIUT 48,500
EEBEAIVT 47,300
PEBAHIVF 36,000
JUNEBFITUT 38,800
4, BEFIRRMTAS
(M)
202546 AZFIRS
= ;i\II 57
ST (7H#E5)
RILBITUT 75,300
PEBAHIVT 75,300
JUNEBFITUT 75,300
[(5E] BRlEERAEEMOMER
(F/kWh. #HA)
_ s BtEI1-/\-HILY—-ER
RHLTUT HHRAZ1— BRI B :
RET7 al JORA R B AT S
HEILBHIVT  |EA1— TKWhio= 7.96 0.00
ERBHIVT A1 TKWhiDO= -6.88 -
BHD1SKWhET 50.00 -
- A1~ (HERA
MEENTIY =2~ (1HRA) 15KWh%#B331KWh(ZD& 3.33 -
X1 ((EEB) TKWhiTo= 3.33 —
BHD1SKWhET -141.10 -0.07
MEAZ1— (HE]A)
PEBEAHIVT = = 15KWhEB23 1KWh(CO= -9.39 0.00
RBA1—(1EEB) TKWhiS= -9.39 0.00
NHNBHIVF  |EA—1— TKWhiO= 1.55 -0.01
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